

ON APPROXIMATE EULER DIFFERENTIAL EQUATIONS OF THIRD ORDER

Mohammad Reza **Abdollahpour**

*Faculty of Mathematical Sciences, Department of Mathematics,
University of Mohaghegh Ardabili, Ardabil 56199-11367, Iran*

Abbas **Najati**

*Faculty of Mathematical Sciences, Department of Mathematics,
University of Mohaghegh Ardabili, Ardabil 56199-11367, Iran*

Received: July 2013

MSC 2000: 34 K 20; 26 D 10

Keywords: Hyers–Ulam stability, differential equation.

Abstract: The aim of this paper is to investigate the Hyers–Ulam stability of the linear differential equation $x^3y^{(3)}(x) + \alpha x^2y''(x) + \beta xy'(x) + \gamma y(x) = f(x)$, where $\alpha, \beta, \gamma \in \mathbb{R}$, $y \in C^3[a, b]$ and $f \in C[a, b]$ for $0 < a < b < +\infty$ or $-\infty < a < b < 0$.

1. Introduction

Let X be a normed space and let I be an open interval. We say the differential equation

$$(1.1) \quad a_n(t)y^{(n)}(t) + a_{n-1}(t)y^{(n-1)}(t) + \cdots + a_1(t)y'(t) + a_0y(t) + h(t) = 0$$

has the Hyers–Ulam stability, if for any function $f : I \rightarrow X$ satisfying the differential inequality

$$\|a_n(t)y^{(n)}(t) + a_{n-1}(t)y^{(n-1)}(t) + \cdots + a_1(t)y'(t) + a_0y(t) + h(t)\| \leq \varepsilon$$

E-mail addresses: mrabdollahpour@yahoo.com, m.abdollah@uma.ac.ir;
a.nejati@yahoo.com, a.najati@uma.ac.ir

for all $t \in I$ and for some $\varepsilon \geq 0$, there exists a solution $g : I \rightarrow X$ of (1.1) such that $\|f(t) - g(t)\| \leq K(\varepsilon)$ for any $t \in I$, where $K(\varepsilon)$ is an expression for ε only.

The stability problem of functional equations originated from a question of Ulam [14] concerning the stability of group homomorphisms. Hyers [4] solved the case of approximately additive mappings on Banach spaces. Thereafter, T. Aoki [2] and Th. M. Rassias [13] provided a generalization of the Hyers theorem for additive and linear mappings, respectively, by allowing the Cauchy difference to be unbounded (see also [3]).

The Hyers–Ulam stability of differential equations has been investigated by Alsina and Ger [1] (see also [11, 12]): If $\varepsilon > 0$ and a differentiable function $f : I \rightarrow \mathbb{R}$ satisfies the differential inequality $|y'(t) - y(t)| \leq \varepsilon$, where I is an open subinterval of \mathbb{R} , then there exists a differentiable function $f_0 : I \rightarrow \mathbb{R}$ satisfying $f_0'(t) = f_0(t)$ such that $|f(t) - f_0(t)| \leq 3\varepsilon$ for all $t \in I$. This result of Alsina and Ger has been generalized by some mathematicians (Ref. [5, 6, 7, 9, 10]).

Recently, Jung [8] has investigated the Hyers–Ulam stability of the second-order Euler differential equation $x^2y''(x) + \alpha xy'(x) + \beta y(x) = 0$.

The aim of this paper is to investigate the Hyers–Ulam stability of the third-order Euler differential equation

$$(1.2) \quad x^3y^{(3)}(x) + \alpha x^2y''(x) + \beta xy'(x) + \gamma y(x) = f(x)$$

where $\alpha, \beta, \gamma \in \mathbb{R}$, $y \in C^3[a, b]$ and $f \in C[a, b]$ for $0 < a < b < +\infty$ or $-\infty < a < b < 0$.

2. Hyers–Ulam stability of the differential equation (1.2)

In the following theorem, we prove the Hyers–Ulam stability of the differential equation (1.2). Throughout this section, a and b are real numbers with $0 < a < b < +\infty$ or $-\infty < a < b < 0$.

Theorem 2.1. *Let α, β and γ be real numbers. The differential equation $x^3y^{(3)}(x) + \alpha x^2y''(x) + \beta xy'(x) + \gamma y(x) = f(x)$ has the Hyers–Ulam stability, where $y \in C^3[a, b]$ and $f \in C[a, b]$.*

Proof. Suppose that $0 < a < b < +\infty$ and λ, μ and ν are the (real or complex) roots of $m^3 + (\alpha - 3)m^2 + (2 - \alpha + \beta)m + \gamma = 0$ with $p = \Re\lambda$,

$q = \Re\mu$ and $r = \Re\nu$. Let $\varepsilon > 0$ and $y \in C^3[a, b]$ such that

$$(2.1) \quad |x^3y^{(3)}(x) + \alpha x^2y''(x) + \beta xy'(x) + \gamma y(x) - f(x)| \leq \varepsilon$$

for all $x \in [a, b]$. Let

$$g(x) = x^2y''(x) + (\lambda + \alpha - 2)xy'(x) + (\lambda^2 + \alpha\lambda - 3\lambda + 2 - \alpha + \beta)y(x),$$

$$z(x) = g(b)b^{-\lambda}x^\lambda - x^\lambda \int_x^b t^{-\lambda-1}f(t) dt$$

for all $x \in [a, b]$. Then

$$(2.2) \quad xz'(x) = \lambda z(x) + f(x)$$

for all $x \in [a, b]$. It is clear that

$$|xg'(x) - \lambda g(x) - f(x)| = |x^3y^{(3)}(x) + \alpha x^2y''(x) + \beta xy'(x) + \gamma y(x) - f(x)| \leq \varepsilon$$

for all $x \in [a, b]$. So

$$\begin{aligned} |z(x) - g(x)| &= \left| g(b)b^{-\lambda}x^\lambda - x^\lambda \int_x^b t^{-\lambda-1}f(t) dt - g(x) \right| = \\ &= |x^\lambda| \left| g(b)b^{-\lambda} - g(x)x^{-\lambda} - \int_x^b t^{-\lambda-1}f(t) dt \right| = \\ &= x^p \left| \int_x^b [g(t)t^{-\lambda}]' dt - \int_x^b t^{-\lambda-1}f(t) dt \right| = \\ &= x^p \left| \int_x^b t^{-\lambda-1}[tg'(t) - \lambda g(t) - f(t)] dt \right| \leq \\ &\leq x^p \int_x^b |t|^{-\lambda-1} |tg'(t) - \lambda g(t) - f(t)| dt \leq \\ &\leq \varepsilon x^p \int_x^b t^{-p-1} dt \end{aligned}$$

for all $x \in [a, b]$. Therefore

$$(2.3) \quad |z(x) - g(x)| \leq \begin{cases} \frac{1 - (\frac{a}{b})^p}{p} \varepsilon & \text{if } p \neq 0; \\ \ln(\frac{b}{a}) \varepsilon & \text{if } p = 0 \end{cases}$$

for all $x \in [a, b]$. Let us consider $h(x) = xy'(x) - \mu y(x)$ and

$$k(x) = h(b)b^{-\nu}x^\nu - x^\nu \int_x^b t^{-\nu-1}z(t) dt,$$

$$u(x) = y(b)b^{-\mu}x^\mu - x^\mu \int_x^b t^{-\mu-1}k(t) dt$$

for all $x \in [a, b]$. Then $u \in C^3[a, b]$ and

$$(2.4) \quad xk'(x) = \nu k(x) + z(x), \quad xu'(x) = \mu u(x) + k(x),$$

$$\begin{aligned} xh'(x) - \nu h(x) &= x^2y'' + (1 - \mu - \nu)xy' + \mu\nu y = \\ &= x^2y''(x) + (\lambda + \alpha - 2)xy'(x) + \\ &\quad + (\lambda^2 + \alpha\lambda - 3\lambda + 2 - \alpha + \beta)y(x) = \\ &= g(x). \end{aligned}$$

for all $x \in [a, b]$. Hence (2.4) implies that $x^2u''(x) + (1 - \mu - \nu)xu'(x) + \mu\nu u(x) = z(x)$. This means

$$(2.5) \quad x^2u''(x) + (\lambda + \alpha - 2)xu'(x) + (\lambda^2 + \alpha\lambda - 3\lambda + 2 - \alpha + \beta)u(x) = z(x)$$

for all $x \in [a, b]$. From the definitions of functions h and k , we have

$$\begin{aligned} |k(x) - h(x)| &= \left| h(b)b^{-\nu}x^\nu - h(x) - x^\nu \int_x^b z(t)t^{-\nu-1} dt \right| = \\ &= |x^\nu| \left| h(b)b^{-\nu} - h(x)x^{-\nu} - \int_x^b z(t)t^{-\nu-1} dt \right| = \\ &= x^r \left| \int_x^b [h(t)t^{-\nu}]' dt - \int_x^b z(t)t^{-\nu-1} dt \right| = \\ &= x^r \left| \int_x^b t^{-\nu-1} [th'(t) - \nu h(t) - z(t)] dt \right| \leq \\ &\leq x^r \int_x^b |t^{-\nu-1}| |th'(t) - \nu h(t) - z(t)| dt \leq \\ &\leq x^r \int_x^b t^{-r-1} |th'(t) - \nu h(t) - z(t)| dt = \\ &= x^r \int_x^b t^{-r-1} |g(t) - z(t)| dt \end{aligned}$$

for all $x \in [a, b]$. It follows from (2.3) that

$$(2.6) \quad |k(x) - h(x)| \leq \begin{cases} \frac{[1-(\frac{a}{b})^p][1-(\frac{a}{b})^r]}{rp} \varepsilon & \text{if } p, r \neq 0; \\ \frac{[1-(\frac{a}{b})^r] \ln(\frac{b}{a})}{r} \varepsilon & \text{if } r \neq 0, p = 0; \\ \frac{[1-(\frac{a}{b})^p] \ln(\frac{b}{a})}{p} \varepsilon & \text{if } p \neq 0, r = 0; \\ \varepsilon \ln^2(\frac{b}{a}) & \text{if } r, p = 0 \end{cases}$$

for all $x \in [a, b]$. Using (2.2) and (2.5), we get that

$$x^3 u^{(3)}(x) + \alpha x^2 u''(x) + \beta x u'(x) + \gamma u(x) = f(x)$$

for all $x \in [a, b]$. We also have

$$\begin{aligned} |y(x) - u(x)| &= \left| y(x) - y(b)b^{-\mu}x^\mu + x^\mu \int_x^b t^{-\mu-1}k(t) dt \right| = \\ &= |x^\mu| \left| y(x)x^{-\mu} - y(b)b^{-\mu} + \int_x^b t^{-\mu-1}k(t) dt \right| = \\ &= x^q \left| \int_x^b [y(t)t^{-\mu}]' dt - \int_x^b t^{-\mu-1}k(t) dt \right| = \\ &= x^q \left| \int_x^b t^{-\mu-1}[ty'(t) - \mu y(t) - k(t)]dt \right| \leq \\ &\leq x^q \int_x^b |t^{-\mu-1}||ty'(t) - \mu y(t) - k(t)|dt \leq \\ &\leq x^q \int_x^b t^{-q-1}|ty'(t) - \mu y(t) - k(t)|dt \\ &= x^q \int_x^b t^{-q-1}|h(t) - k(t)|dt \end{aligned}$$

for all $x \in [a, b]$. It follows from (2.6) that

$$|y(x) - u(x)| \leq \begin{cases} \frac{[1-(\frac{a}{b})^p][1-(\frac{a}{b})^q][1-(\frac{a}{b})^r]}{pqr} \varepsilon & \text{if } p, r, q \neq 0; \\ \frac{[1-(\frac{a}{b})^p][1-(\frac{a}{b})^r] \ln(\frac{b}{a})}{pr} \varepsilon & \text{if } p, r \neq 0, q = 0; \\ \frac{[1-(\frac{a}{b})^p][1-(\frac{a}{b})^q] \ln(\frac{b}{a})}{pq} \varepsilon & \text{if } p, q \neq 0, r = 0; \\ \frac{[1-(\frac{a}{b})^r][1-(\frac{a}{b})^q] \ln(\frac{b}{a})}{rq} \varepsilon & \text{if } r, q \neq 0, p = 0; \\ \frac{[1-(\frac{a}{b})^p] \ln^2(\frac{b}{a})}{p} \varepsilon & \text{if } p \neq 0, r, q = 0; \\ \frac{[1-(\frac{a}{b})^q] \ln^2(\frac{b}{a})}{q} \varepsilon & \text{if } q \neq 0, p, r = 0; \\ \frac{[1-(\frac{a}{b})^r] \ln^2(\frac{b}{a})}{r} \varepsilon & \text{if } r \neq 0, p, q = 0; \\ \varepsilon \ln^3(\frac{b}{a}) & \text{if } p, q, r = 0 \end{cases}$$

for all $x \in [a, b]$. This completes the proof for the case $0 < a < b < +\infty$.

Now, suppose that $-\infty < a < b < 0$ and λ, μ and ν are the (real or complex) roots of $m^3 + (3 - \alpha)m^2 + (2 - \alpha + \beta)m - \gamma = 0$. Let $\lambda = p + i\tilde{p}$, $\mu = q + i\tilde{q}$ and $\nu = r + i\tilde{r}$. Suppose that $\varepsilon > 0$ and $y \in C^3[a, b]$ satisfies (2.1). Let

$$g(x) = x^2 y''(x) + (\lambda - \alpha - 2)xy'(x) + (\lambda^2 - \alpha\lambda + 3\lambda + 2 - \alpha + \beta)y(x),$$

$$z(x) = g(b)b^\lambda x^{-\lambda} - x^{-\lambda} \int_x^b t^{\lambda-1} f(t) dt$$

for all $x \in [a, b]$. Then

$$(2.7) \quad xz'(x) = -\lambda z(x) + f(x),$$

and

$$|xg'(x) + \lambda g(x) - f(x)| = |x^3 y^{(3)}(x) + \alpha x^2 y''(x) + \beta xy'(x) + \gamma y(x) - f(x)| \leq \varepsilon$$

for all $x \in [a, b]$. So we have

$$|z(x) - g(x)| = \left| g(b)b^\lambda x^{-\lambda} - x^{-\lambda} \int_x^b t^{\lambda-1} f(t) dt - g(x) \right| =$$

$$= |x^{-\lambda}| \left| g(b)b^\lambda - g(x)x^\lambda - \int_x^b t^{\lambda-1} f(t) dt \right| =$$

$$\begin{aligned}
 &= e^{\tilde{p}\pi} |x|^{-p} \left| \int_x^b [g(t)t^\lambda]' dt - \int_x^b t^{\lambda-1} f(t) dt \right| = \\
 &= e^{\tilde{p}\pi} |x|^{-p} \left| \int_x^b t^{\lambda-1} [tg'(t) + \lambda g(t) - f(t)] dt \right| \leq \\
 &\leq e^{\tilde{p}\pi} |x|^{-p} \int_x^b |t^{\lambda-1}| |tg'(t) + \lambda g(t) - f(t)| dt \leq \\
 &\leq \varepsilon |x|^{-p} \int_x^b |t|^{p-1} dt
 \end{aligned}$$

for all $x \in [a, b]$. Therefore

$$(2.8) \quad |z(x) - g(x)| \leq \begin{cases} \frac{1 - (\frac{b}{a})^p}{p} \varepsilon & \text{if } p \neq 0; \\ \varepsilon \ln(\frac{a}{b}) & \text{if } p = 0 \end{cases}$$

for all $x \in [a, b]$. Let $h(x) = xy'(x) + \mu y(x)$ and

$$\begin{aligned}
 k(x) &= h(b)b^\nu x^{-\nu} - x^{-\nu} \int_x^b t^{\nu-1} z(t) dt, \\
 u(x) &= y(b)b^\mu x^{-\mu} - x^{-\mu} \int_x^b t^{\mu-1} k(t) dt
 \end{aligned}$$

for all $x \in [a, b]$. Then $u \in C^3[a, b]$ and

$$(2.9) \quad xk'(x) = -\nu k(x) + z(x), \quad xu'(x) = -\mu u(x) + k(x),$$

$$\begin{aligned}
 xh'(x) + \nu h(x) &= x^2 y'' + (1 + \mu + \nu)xy' + \mu\nu y = \\
 &= x^2 y''(x) + (\alpha - \lambda - 2)xy'(x) + \\
 &\quad + (\lambda^2 - \alpha\lambda + 3\lambda + 2 - \alpha + \beta)y(x) = \\
 &= g(x).
 \end{aligned}$$

for all $x \in [a, b]$. It follows from (2.9) that $x^2 u''(x) + (1 + \mu + \nu)xu'(x) + \mu\nu u(x) = z(x)$. This means

$$(2.10) \quad x^2 u''(x) + (\alpha - \lambda - 2)xu'(x) + (\lambda^2 - \alpha\lambda + 3\lambda + 2 - \alpha + \beta)u(x) = z(x)$$

for all $x \in [a, b]$. Hence (2.7) and (2.10) imply

$$x^3 u^{(3)}(x) + \alpha x^2 u''(x) + \beta x u'(x) + \gamma u(x) = f(x)$$

for all $x \in [a, b]$. From the definitions of functions h and k , we have

$$\begin{aligned}
 |k(x) - h(x)| &= \left| h(b)b^\nu x^{-\nu} - h(x) - x^{-\nu} \int_x^b t^{\nu-1} z(t) dt \right| = \\
 &= |x^{-\nu}| \left| h(b)b^\nu - h(x)x^\nu - \int_x^b t^{\nu-1} z(t) dt \right| = \\
 &= e^{\tilde{r}\pi} |x|^{-r} \left| \int_x^b [h(t)t^\nu]' dt - \int_x^b t^{\nu-1} z(t) dt \right| = \\
 &= e^{\tilde{r}\pi} |x|^{-r} \left| \int_x^b t^{\nu-1} [th'(t) + \nu h(t) - z(t)] dt \right| \leq \\
 &\leq e^{\tilde{r}\pi} |x|^{-r} \int_x^b |t^{\nu-1}| |th'(t) + \nu h(t) - z(t)| dt = \\
 &= |x|^{-r} \int_x^b |t|^{r-1} |th'(t) + \nu h(t) - z(t)| dt \leq \\
 &\leq |x|^{-r} \int_x^b |t|^{r-1} |g(t) - z(t)| dt
 \end{aligned}$$

for all $x \in [a, b]$. It follows from (2.8) that

$$(2.11) \quad |k(x) - h(x)| \leq \begin{cases} \frac{[1-(\frac{b}{a})^p][1-(\frac{b}{a})^r]}{rp} \varepsilon & \text{if } p, r \neq 0; \\ \frac{[1-(\frac{b}{a})^r] \ln(\frac{a}{b})}{r} \varepsilon & \text{if } r \neq 0, p = 0; \\ \frac{[1-(\frac{b}{a})^p] \ln(\frac{a}{b})}{p} \varepsilon & \text{if } p \neq 0, r = 0; \\ \varepsilon \ln^2(\frac{a}{b}) & \text{if } r, p = 0 \end{cases}$$

for all $x \in [a, b]$. We also have

$$\begin{aligned}
 |y(x) - u(x)| &= \left| y(x) - y(b)b^\mu x^{-\mu} + x^{-\mu} \int_x^b t^{\mu-1} k(t) dt \right| = \\
 &= |x^{-\mu}| \left| y(x)x^\mu - y(b)b^\mu + \int_x^b t^{\mu-1} k(t) dt \right| = \\
 &= e^{\tilde{q}\pi} |x|^{-q} \left| \int_x^b [y(t)t^\mu]' dt - \int_x^b t^{\mu-1} k(t) dt \right| = \\
 &= e^{\tilde{q}\pi} |x|^{-q} \left| \int_x^b t^{\mu-1} [ty'(t) + \mu y(t) - k(t)] dt \right| \leq
 \end{aligned}$$

$$\begin{aligned} &\leq e^{\tilde{q}\pi} |x|^{-q} \int_x^b |t^{\mu-1}| |ty'(t) + \mu y(t) - k(t)| dt = \\ &= |x|^{-q} \int_x^b |t|^{q-1} |h(t) - k(t)| dt \end{aligned}$$

for all $x \in [a, b]$. It follows from (2.11) that

$$|y(x) - u(x)| \leq \begin{cases} \frac{[1-(\frac{b}{a})^p][1-(\frac{b}{a})^q][1-(\frac{b}{a})^r]}{pqr} \varepsilon & \text{if } p, r, q \neq 0; \\ \frac{[1-(\frac{b}{a})^p][1-(\frac{b}{a})^r] \ln(\frac{a}{b})}{pr} \varepsilon & \text{if } p, r \neq 0, q = 0; \\ \frac{[1-(\frac{b}{a})^p][1-(\frac{b}{a})^q] \ln(\frac{a}{b})}{pq} \varepsilon & \text{if } p, q \neq 0, r = 0; \\ \frac{[1-(\frac{b}{a})^r][1-(\frac{b}{a})^q] \ln(\frac{a}{b})}{rq} \varepsilon & \text{if } r, q \neq 0, p = 0; \\ \frac{[1-(\frac{b}{a})^p] \ln^2(\frac{b}{a})}{p} \varepsilon & \text{if } p \neq 0, r, q = 0; \\ \frac{[1-(\frac{b}{a})^q] \ln^2(\frac{b}{a})}{q} \varepsilon & \text{if } q \neq 0, p, r = 0; \\ \frac{[1-(\frac{b}{a})^r] \ln^2(\frac{a}{b})}{r} \varepsilon & \text{if } r \neq 0, p, q = 0; \\ \varepsilon \ln^3(\frac{a}{b}) & \text{if } p, q, r = 0 \end{cases}$$

for all $x \in [a, b]$. This completes the proof. \diamond

References

- [1] C. ALSINA, C. and GER, R.: On some inequalities and stability results related to the exponential function, *J. Inequal. Appl.* **2** (1998), 373–380.
- [2] AOKI, T.: On the stability of the linear transformation in Banach spaces, *J. Math. Soc. Japan* **2** (1950), 64–66.
- [3] BOURGIN, D. G.: Classes of transformations and bordering transformations, *Bull. Amer. Math. Soc.* **57** (1951), 223–237.
- [4] HYERS, D. H.: On the stability of the linear functional equation, *Proc. Natl. Acad. Sci. USA* **27** (1941), 222–224.
- [5] JUNG, S.-M.: Hyers–Ulam stability of linear differential equations of first order, *Appl. Math. Lett.* **17** (2004), 1135–1140.
- [6] JUNG, S.-M.: Hyers–Ulam stability of linear differential equations of first order, III, *J. Math. Anal. Appl.* **311** (2005), 139–146.
- [7] JUNG, S.-M.: Hyers–Ulam stability of linear differential equations of first order, II, *Appl. Math. Lett.* **19** (2006), 854–858.

- [8] JUNG, S.-M.: On approximate Euler differential equations, *Abstract and Applied Analysis* (2009), Article ID 537963, 8 pages.
- [9] MIURA, T.: On the HyersUlam stability of a differentiable map, *Sci. Math. Japon.* **55** (2002), 17–24.
- [10] MIURA, T., JUNG, S.-M. and TAKAHASI, S.-E.: Hyers–Ulam–Rassias stability of the Banach space valued differential equations $y' = \lambda y$, *J. Korean Math. Soc.* **41** (2004), 995–1005.
- [11] OBIŹOZA, M.: Hyers stability of the linear differential equation, *Rocznik Nauk.-Dydakt. Prace Mat.* **13** (1993), 259–270.
- [12] OBIŹOZA, M.: Connections between Hyers and Lyapunov stability of the ordinary differential equations, *Rocznik Nauk.-Dydakt. Prace Mat.* **14** (1997), 141–146.
- [13] RASSIAS, TH. M.: On the stability of the linear mapping in Banach spaces, *Proc. Amer. Math. Soc.* **72** (1978), 297–300.
- [14] ULAM, S. M.: *A Collection of the Mathematical Problems*, Interscience Publ. New York, 1960.